Math 335-001

Homework #4
Due date: February 15, 2005

Please show all work in detail to receive full credit. Late homework is not accepted.
1. Write the following vector algebra equations in suffix notation (bold symbols indicate vectors):
(A)   d × a ∙ c + |a|2  b ∙ c = 3    (B)   c = |b|2  b × a + (d ∙ a) b - 2 a
2. Problem 4.11 on page 82.

3. Simplify where necessary and translate the following suffix notation equation into vector notation:

a j δ m k b k am + b k cm d n c k ε j m n = δ k l  dm  d k cm δ l j 
4. Problem 4.4 on page 73. Please show all steps!
5. Simplify the following (hint: it always helps to first determine which suffices are free and which are dummy):
(a) δ k n δ k m δ m n
(b) ε n k m ε l m j ε p j k
6. Use vector algebra to find an alternative expression (involving no cross product) for b × a ∙ c × a. Repeat this exercise using suffix notation instead of vector algebra. 

7. Use suffix notation to show that
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